Spider Shelving Doors

Assembly Guide

SH Line

» Read instructions carefully.

« All required hardware is included.

« Please check the contents with your packing slip.
» Two people are required for the assembly.

« Save this document for future reference.

Hardware Quincaillerie

1/4-20 bolts 1/4-20 bolts Tapping screw  1/4-20 nuts
Boulons 1/4-20 Bouions 1/4-20  Vis taraudeuse Ecrous 1/4-20
3A1818L2 3A1824L2 3D1618L2 38180122
10X =)
e
Note A —
Note A
If you already have modular M
drawers in your unit, use a tapping N

screw to fasten the frames to the
mounting brackets: (%)

==X

N

3

Ifit's not the case, use:

6XC) ex())

/!

(&

T

L

rousseau

Portes pour étagére Spider’

Guide d'assemblage

Ligne SH

* Lisez attentivement les instructions.

« Toute la quincaillerie requise est incluse.

* Veuillez vérifier le contenu avec votre feuille de
livraison.

* Conservez ces instructions pour référence future.

* Deux personnes sont requises pour l'assemblage.

Outils requis

Tools Required

I

7 Phillips #3 || @ 7116"

Premiére étape

NoteA
Sivous avez déja des tiroirs modulaires
dans ['étagere, utilisez des vis
taraudeuses pour fixer les cadres aux
profilés de montage: (J%)

—t

=

=

&

Sinon, utilisez:

6xC) ex()

=

Deuxiéme étape

3/16" gap
Espace

Shelf clip
Crochet

TOP VIEW
VUE DESSUS

The top shelf must be

bolted for more security.

Do not overtighten.
La tablette du haut doit étre

boulonnée pour plus de

rousseaumetal.com
1-800-463-4271

Page 1/1

sécurité. Ne pas trop serrer.

S14-SE10B
7D000802



	Page 1

